x—3

lim [ 1T __6 |
m Xx=3 x?=9]
limitinin degeri kagtir?

A)—% B)—% )0 D)

| —=

E Iiml 4 1

x—>4i1X—4 _JX—Z.

limitinin degeri kagtir?

B)—% c) L D)

. E) 1

N[ =

1
A]f

3. lim (3x+1 = 3%)

X—00

limitinin degeri kagtir?

A) = o0 B)—1 C)0 D) 1 E) oo

4. [2x=1  2x+1)
lim =
x—1t X=1 3x — 3/

limitinin degeri kagtir?

A) % B) 2 s D) 3 E) Yoktur,

E lim (secx — tanx)
X—> %
limitinin degeri kactir?

A) 2 B) = C)0 D) -

N =

6. lim (VOx2+ 5x —3 —vOx2+ x + 1)
X—> 00

limitinin degeri kagtir?

A) = B)—1 C)0 D)

7. | lim (x = Vx2 + 4x + 5)



HIMITININ gegeri Kagur ¢

A) -1 B) -2 C)-3 D)-4
8. | lim (Vx2+ ax +5—=x2= 3x +7) =2
X—00
olduguna gore, a kactir?
A)—2 B)—1 C) 1 D) 2
WWW.SUPErsoru.com
Cevaplar :

1)D, 2)B, 3)C, 4A, 5)C, 6)E, 7)B, 8)C,



